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Section One  Listening (%43 30 43)
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#i it—: Choose the words you hear in the song.

( ) 1. A .bell B.bear C.pair

( ) 2. A.shoes  B.shows C.toes
o —:

( ) 3.What is this song about?

A. The sky B. The diamond  C. Little star

( ) 4.What does the girl wonder?

A.what they are ~ B. where they are C.why they are in the sky

YOWT BRI, SRR A KRBT B 0 A AN BRI R ERE 24 U R
The Road Not Taken----By Robert Forest
Two Roads diverged in a yellow wood,
5
And be one traveler, long I stood
And looked down one as far as I could
To where it bent in the undergrowth;

Then took the other, as just as fair,

And having perhaps the better claim,
6

Though as for that the passing there.

Had worn them really about the same.
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( ) 6.
A. And sorry I could not walk on both ways

B. And sorry I could not travel both
C. Because it was grassy and wanted wear

D. Because there was grass and needed water
W Wr—BHLEY, [ R A4
() 7.What is the baby’s name?
A. Ally B. Emily C. Peaches
() 8.What does Sid say the baby is like?
A. Her father B. Her mother C. Her sister
T WrYB R g, EFERG EIRE IR AR R
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( )13. How many times has the woman visited Shanghai?
A. Once. B. Twice. C.Three times.

( )14. What is Cindy?
A. An aunt. B. A friend. C. A teacher.

( )15. Where does the dialogue probably take place?
A. At a post office. B. In a shop. C. At an airport.

( )16. When did the girl get up this morning?

A. At 7:00. B.At7:30. C. At 6:30.
( )17.What are they talking about?
A. Pets. B. Cats. C. Dogs.

VU W B, RS W B P A R R A, R AR I RHAAE B A% X

HIAHNAY B o RRBON TR . (RS T 23, 3L 6 70)
ST — B, SE R A =AML
( )18. How much did the man win in the contest?

A.15 dollars. B.500 dollars.
( )19.How did the man feel after winning the prize?

A.Happy. B.Funny. C.Crazy.
() 20.What is the man doing now?

A.Giving the money to charity.

B.Having a Talent Contest.

C.Fetching the money.
Y UE B, SRR AL
( ) 21.When did the woman get home last night?

A.About twelve. ~ B.About half past ten.

( ) 22.Where did the woman go last night?

A.To a concert. B.To a wild party.

o/t 16 1L

C.1,500 dollars.

C.About half past twelve.

C.To a birthday party.



( ) 23.Why did the woman come back late?
A.The concert ended until midnight.
B.She went to a Pop Music Concert.

C.She went to her friend’s home.

Tov WriBOEE ARGEHTWT A BIE R, TR IZ S R I T EHEAE B B EUX KA
MR E . BFBOMEM . (RE/NE 14y, 35790
YT —BUi, sem FoI% .
( ) 24. Who do you think Jader is in the story?

A. Mr and Mrs Hampton’s master.

B. Mr and Mrs Hampton’s son.

C. Mr and Mrs Hampton’s dog.
( ) 25. How many meals did Jader eat a day in April?

A. Three meals. B. Four meals. C. At least three or four meals.
( ) 26. When did Jader take his master for walk?

A. In September. B. In October. C. In July.

YOUTBUIET, KN AIAITIOE R, JREIER (T) H#HRE (F) SOV S W,
( ) 27. Michael is a math teacher.

( ) 28. They teach children aged 11 to 18.

( ) 29. The classroom in the school is big.
(

) 30. During the class, students can see teachers, but teachers can’t see students.

7416 1T
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Section Two  Development (343 50 7-)
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BABYSITTER ([ ] i) )L %) WANTED

.

= AR
<

T

e

A
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Do you like children? Do you have free time in the afternoon? We

[ 4

need a babysitter for our son. He is five years old. Hours are
3:00 pm to 6:00 pm from Monday to Friday. Sometimes you have
to work on the weekend. Pay ($i/K) is $10 each hour.
For the job, you will: Watch our son

Read to him

Play with him
You will work at our house. We live in Fourth Road, near
Huaxing Clothes Store.
Please call Mr. Wang at 010-58899333.

31. On Friday, the babysitter will

A. not work B. get $10 C. work three hours
32. is not a part of the job.

A. Cooking for the child

B. Working at the child’s house

C. Reading books to the child
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33. The babysitter must

A. drive a car to work

B. go to the office to work

C. play with the child

34. Which of the following is true?

A. The child is less than (AN A2) ten years old.
B. The babysitter must be a college student (K224).
C. The babysitter must work six days a week.
35. The best babysitter for the job

A. get $10 every day

B. likes playing with children

C. can’t read story-books

S BRI A BP0
Li Ping is a Grade Six student in Wuhan Foreign Language School. The table below is his

mid-term self-assessment(¥ 7' 5 FVEAN). He draws faces to show his progress :

@) excellens &) oK (D) weak

Read the table and find out how wellLi Ping is doing. =
Unit U |||| | 1 l--!_; _'
Itemn —0 Past and present |' AV | . 'J : N
i - 7 1 ; eSS | Suffixe ‘. -._.‘\I Words abow [ﬁ:
Vocabulary (pposites @ | d “less & | computers =/
To. ¥ E. i conbiRnuous P [y
. *resent perled ‘H‘ T4 | Pazaive voio
(rrammar Present perfect \ i (=) | Pazsi )
1efse -
[ &eud 11 ST # . faas | [lrgamzing -y
Stndy skills T [ o | Dinking words ™ L 2 - &
: . sing a dictionary i st e o | information =
Promumciation | Using : y "‘:':;l ] il : i
' ' ~. | My best fany | Favourite educational £
Main task | A report @ | holiday O e ©
36. Li Ping thinks he did best in in Unit 1.
A. opposites B. using a dictionary C. areport

37. What does Li Ping need to improve in Unit 1?
A. Present perfect tense.

B. Using a dictionary

C. A report.

559 /4t 16 1t
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38. Which do you think Li Ping does well in?

A. Present perfect tense.

B. Passive voice.

C. Organizing information.

39. What is Li Ping NOT very good at in Unit 2?
A. Suffixes‘ful’and‘less’.

B. Past continuous tense

C. Linking words.

40. From the table we know Li Ping is weak in

A. Vocabulary B. Main task C. Grammar

*rﬁj-,;{_k PIE - }I”ﬁ i, [:[I[[ I ﬁ%ﬂ!

In Japan on 5th May,

Boys and girls come out to play.
Delicious rice cakes.

Flying fish.

Parents make a special wish.

41. Which festival is it?

A. Halloween. B. Water Festival C. Children’s Day
42. Which word rhymes with  “fish” ?

A. ‘May’ B.‘play’ C. ‘wish’

Ve PR I S

Tennis
By Chris Leung

Have you ever played tennis? It is fun and easy to learn! If you have
never played it, you can read about the rules in this book. If you already
know how to play tennis, this book gives you lots of_#jps for playing better.

Find out how to play like an expert tennis player!

H10 /3k 16 1
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43. Read Line 4. What are “tips™? . , .
L RIEEE, PN, IR RN AR B BEEX N (BhE2 7, 330

A. Pieces of advice. B. Extramoney.  C. Pictures. 7
44 .This book is for . 51. During which season of the year would a rabbit’s fur be thickest?
1)Chris Leung. A. Fall
2)people who have never played tennis B. Spring
3)people who have played tennis before C. Winter
4)champion tennis player 52. Which of the following is the second highest mountain in the world?
A. 1&3 B. 2&3 C. 1&2 A. The Mount Everest
e E'“ Wﬁfﬁ’ [F'I F&[—m 4l ﬁ @ B. The Rocky Mountains

C. The Chogori

Dear Santa, here's my Christmas list
53.What’s the capital and flag of Canada?

I hope you'll bring it all. I I
45 ) A. Rome &

I've only asked for gifts my parents can't find at the

I'd like to have a UFO, with aliens inside, and maybe a Tyrannosaurus Rex that I I*I
B. Ottawa &

could 46

A ninety-nine foot robot is a present I could 47 C. Berlin &

54.What “NO.” stands for?
T'll also need a time machine and rocket-powered shoes.

A. NOT
Please 48 a gentle genie who will grant my every wish, and don't forget a B. NUMBER
wizard's wand, and, yes, a talking wish. C. NOW
55. What comes next?
Of course, T'll need a unicorn, and won't you please provide a dragon, and a castle in X
Jv db

the___49___ countryside. §

Of couse, the weight of all these things might cause your sleigh to crash. ﬁ é
If that's the case, dear Santa, please feel free to just bring crash. é ;{ e

45-49. Here are five words, please choose the right one and write in the blanks.
A. ride B. English C. bring D. use E. mall A %’
50. What does the writer really want?

A. An UFO B. A robot C. Money
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56. Mr. Wang cut a wire for 8 times. The length of each section(F) is 10 meters, How long is this

wire?
A. 70m B.80m C.90m

57. The length of exact square’s side is 1cm. What’s the area of the shaded part?

lom {

A.16cm’ B.19 cm? C.20 cm?

58.Which number should replace the question mark?

(6[4]12) (3[4]19) CANIRY)
A2 B.3 C4
59. Which is different from the others?

(1 2 3) “4) )

A.(1) B.(3) C.(4)
60.What comes next?

CA FC IG LM

A.PV B.OU C.RZ

61.A desk has four corners(¥|). If we cut one corner off, how many corners does the desk have?
A3 B.5 C3or5

62. How many coins(jifi[")do they each have?

3 By

B. Mary=12, Jack=8

Mary: | have wice as

ANy Coins 38 you

Jack: If you give me 2 coins, we
each have the same number,

A.Mary=10, Jack=5 C. Mary=8, Jack=4

#5913 /3t 16 1L
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63. Mr White’s speeches(i?q’i# ) bring down the house every time.

AR Barkh =z
64. Which number should be the“?”?

C.Wifs 55 =

1,3,4,7,11, 18,29, ?
A.40 B.47 C.53
65. To celebrate(JXA3) the Children‘s Day, a kindergarden hold a game. in the game, the children
place the goldfishes by using the matches(‘kK 42).

How many matches will be used in the tenth one?

e . T, e T, T,
e U R P i g S W
e i, S, S P e, S e P
-~ - -~ ~ -~ -~
@ @ 3
A.62 B.56 C.50
45y PEEA
c&)
TN iﬁ%%ﬂ (%1-2%@: }_FEIEZ%a %3-8@7 @3%9 ;j\:22§j\)
1\(1)%§§+(Ek3—45)+225:4§w = .
(2) “N7 JEFIEEEHN, 2A3=2+3+4=9, 5A4=5+6+7+8=26, ..., N 1A10=

2. FHIBLE: OKEE KK, %\%Hiﬁﬁbﬂ)ﬁiﬂ%%%, VKA K R, AR H‘@Z&“Jﬁiﬂ%ﬂ‘]%; @f —ERTIWHY
LS “HINION, BB ==, hi—LI, ANHER ;. @uBOKIRE 4 Kidhigi 4 F, 6 Pk
56. WA 10 fUNE 10 K, 220 B @ART 4, /AN T 20 KIPTA I ECETRE 73 P AS ile A . Herp I
¥ o (HF5)

3. AFETAN, BAEEFI—A, FERAS, CEEFIMNA, FE RS, DARE 3 A,

e AEH 2 A, W AJEA AL,
4, FEFRIZRT, H. AaWART CEAEmW) FIMEEAN 0.5, 04, HikEWR)E, RELMFIMEN

5. WS RAE 6 4, RN 15 T, 16 Tow. 18 To. 19 Tiw. 20 T, 31 T, bBAsihik2
Wi, RS 3 A, RS MVEREUEL S B 2 e BRI REA T3
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